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R
__________ 3WT/hr x 0. 9K A

PS
TTUHBAR ) RBEF | GREFRESHO
I8 0.9 1 INT/hr | 1. 8\1/hr ;
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0. IMT/hr :

ok (3 %ok 0 3MT/hr
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FA » 16 38 & B A 7 BT th 7 K o By iR 22 &R - B 9T
WA H B EHH 5 IR (Organic Rankine Cycle » f& ffi ORC) # &
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= pS SRR IR ORC S ERLENFI R h RS 32°CHI—&
THNE (R141B) ¢ FAZRFESRIRIN T 75 BB B EET, » AR S
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Generator

e
= hot water
= = working fluid %\zgg
—— = cold water
Vo [ B .
R i3
(1)0.9K ZESENNEMEIR ERE R141B - HFZAL 115°C » 9.5Bar

(2)115°C 9.5Bar 56 58 R141B H£ & i i 5 dim 1= 3 @15 58 &
% » A 57.3°C » 1.2Bar

(3) ARREAKEE A E B e 2% - #EHm BEK B2 [ F
32°C » 1 Bar( JIGHE )

(4)32°C > 1Bar MRRE(EIR S E FIF ZHBE £ 10Bar 1257 5]
AEELR o WEE () PEREHTEIR

ho~ B
1 AR 3 B E RS 4,628 TIL » BLE K ACHR TREAEE 1,351
7T » #I%E 5,979 17T °
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2. FHER
TOKW X 8,000=560 1 KWH/ £F- (H7& CO. BEE 513.5MT/Y)
560,000(KWH) X 3.2( 7T /KWH)~1,000=1,792 {F7T (NT) 4
3. FEIEHKE
1.1X8,000=8,800 M / 4
8,800 M / ©F X 38.35 JC / MH +1,000=337.5 {F-7T (NT)/ &£
— B + KEHETE 2,130 (7T (NT)/ 5
4. AR -
FEETEF] =2,130 fF 7T / 5 -5,979/(15+1)-5,979 X BF 5 2.25%
=1,621 {f7T / &
[ R =5,979/[1,621 X (1-15%)+5,979/(15 4 +1)]
=273 &
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